
WWW.SMITTYBILT.COM

1

Parts list: Qty
Jack  mount 1
M12 hex bolt w/hole 2
Jack mount spacer 2
M12 wing nut 2
6mm locking pin 2
10mm locking pin 1

Note: Actual pictures may vary from specific 
vehicle/ product. 

Jack Mount for JL HD pivot
Part # 7744

Parts list: Qty
M10-1.25x20mm hex bolt 6
M10 Flat washer 6
M12 Flat washer 2
M12 jam nut 2

For Technical Support/Warranty Information please call 310-762-9944
Smittybilt, 400 W. Artesia Blvd  Compton, CA 90220 

Jack base must be 
removed before 
mounting jack. 



2

WWW.SMITTYBILT.COM

Jack Mount for JL HD pivot
Part # 7744

Step 1. Carefully remove all parts from the box. 

Step 2. Clean the threaded holes in the HD pivot with rubbing alcohol to remove any impurities. 
Fig 1.

Step 3. Attach jack mount to HD pivot 
with  six M10 bolts and flat washers. Fig 2 
Thread locker is highly recommended. 

Fig 1

Fig 2



3

WWW.SMITTYBILT.COM

Jack Mount for JL HD pivot
Part # 7744

Step 4. Attach the M12 bolts  to the jack mount with a flat washer and jam nut on the inside.  
Tighten the top one fully (Fig 3) but leave the bottom one loose enough to allow for 
adjustment in the slotted hole.  Fig 4.

Step 5. Attach jack to the M12 bolts, adjust bottom bolt position, remove jack then tighten 
bottom bolt. 

Step 6. Place jack back onto M12 bolts then secure with jack mount spacer and wing nut.   
Secure wing nut with 6mm locking pin. Fig 5

Top mount

Bottom 
mount

Fig 3

Fig 4

Fig 5



4

WWW.SMITTYBILT.COM

Jack Mount for JL HD pivot
Part # 7744

Step 7. Adjust height of jack so it does not interfere with tail light when tail gate is open 
completely.  Fig 6.

Step 8. Secure jack body by placing 12mm locking 
pin in the hole closest to the jack body.  This will 
prevent the jack from lowering if jack is accidently  
set to the lowering function. Fig 7.

Fig 6

Fig 7



5

WWW.SMITTYBILT.COM

Jack Mount for JL HD pivot
Part # 7744



6

WWW.SMITTYBILT.COM

Jack Mount for JL HD pivot
Part # 7744


